02.02.2

                                                       Chapter 02.02
Trapezoidal Rule                                                                                                    07.01.3

Multiple-Choice Test
Chapter 02.02
Differentiation of Continuous Functions

1. The definition of the first derivative of a function 
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2. The exact derivative of 
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(E) 25.00

(F) 75.00

(G) 106.25

(H) 125.00

3. Using the forwarded divided difference approximation with a step size of 0.2, the derivative of 
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(I) 163.4

(J) 203.8

(K) 211.1

(L) 258.8

4. A student finds the numerical value of 
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 using a step size of 0.2.  Which of the following methods did the student use to conduct the differentiation? 

(M) Backward divided difference

(N) Calculus, that is, exact

(O) Central divided difference

(P) Forward divided difference
5. Using the backward divided difference approximation, 
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for a step size of 0.05.  If you keep halving the step size to find 
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 before two significant digits can be considered to be at least correct in your answer, the step size would be (you cannot use the exact value to determine the answer)
(Q) 0.05/2

(R) 0.05/4

(S) 0.05/8

(T) 0.05/16

6. The heat transfer rate 
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 over a surface is given by
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 = surface area
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 = temperature 
[image: image23.wmf](

)

K





[image: image24.wmf]y

 = distance normal to the surface 
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the temperature 
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 over the surface varies as
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The heat transfer rate 
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 at the surface most nearly is

(U) -1076 W

(V) 37.5 W

(W) 80.7 W

(X) 500 W
For a complete solution, refer to the links at the end of the book.







































02.02.1


_1283325509.unknown

_1283325593.unknown

_1293964797.unknown

_1293965214.unknown

_1293965267.unknown

_1293965274.unknown

_1293965284.unknown

_1293965250.unknown

_1293965233.unknown

_1293965075.unknown

_1293965201.unknown

_1283325600.unknown

_1283325719.unknown

_1283325744.unknown

_1283325749.unknown

_1283325702.unknown

_1283325597.unknown

_1283325546.unknown

_1283325568.unknown

_1283325573.unknown

_1283325562.unknown

_1283325530.unknown

_1283325466.unknown

_1283325484.unknown

_1283325497.unknown

_1283325468.unknown

_1283325461.unknown

_1283325463.unknown

_1283325452.unknown

